Name:

GCSE (1 - 9)

Expanding Triple Brackets

Instructions

» Use black ink or ball-point peri.

» Answer all questions.

* Answer the questions in the spaces provided

— there may be more space than you need.

» Diagrams are NOT accurately drawn, unless otherwise indicated.
* You must show all your working out.

Information

» The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

» Read each question carefully before you start to answer it.
» Keep an eye on the time.

* Try to answer every question.
» Check your answers if you have time at the end
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1 Expand and Simplify (x+ z)(@)

(x+2)( 22+ x +4x +4)

g rex

)
ac%+5:7cg*—ky:§?+ Qx +10=x + 8

X+ Tt 4 Ihx + 3B

________(Total for question 1 is 3 marks)

. ]
. 2 Expand and Simplify (x—3)(x+ S)(ch)

(ac—%)':cif;$+63£=to)
=

(@;cle%:c ~—lC>>

2 2 -2y —9x + 30

X° 43¢ 10 -dx -9

x> - 19 + 3O

e (Total for question 2 is 3 marks)



3 Expand and Simplify (x+ 2)(@)
(3(1+;1)(3Cz FOYx + X +S)

—
(gﬁx -3
N

X2+ 6x? «Sx+ 2%+ 12x +10

x> +Rx" + 1 T +10

3 2
T +85xX +/7x+/0

~_(Total for question 3 is 3 marks)

4 Expand and Simplify (x +4)(x+5)(x—4)
(X+4)(z2* - yx +5x - 20)
RS ™ e DO e ol +4x - 80

*x° + 515 — b — RO

X+ 52 16x -850

____(Total for question 4 is 3 marks)



5 Expand and Simplify (x + 3)(x— 1)

(=+3) (,L@J )

(W)C'D(»*’)

ﬁ
Cora a2
x> —2Axt+x +3x - bx+ 3

=2 2 ;
Y A T — ot + S

:£%+ X -5k +3

- 6 Expand and Simplify (x +5)}(x —3)(2x— 1)

(F )2t — 7% =)
%"/

— T 32+ O -3Bx% + 15

2
Q:c T DA + I8

C A

Ao+ B 32y 115,

____(Total for question 6 is 3 marks)




7 Expand and Simplify (2x+ 1)(x+2)(x + 3)
(2xc+1) (o + 2 +2x + 6)
(zmww
A+ 10 +8 122+ o +5x + 6

dx® + 1 ~1 7% + 6

2o + U 17 + 6

. (Total for question 7 is 3 marks)

- 8 Expand and Simphify (2x—3)(x-2)(3x—1)

(2oc -2)(2 — 2 -~ Goe +2)
(ax - ) (2x”— T +2)

bz’ - 143 + 4 -92°+ 2x - 6

6 - 22> +25% - 6

ALk DA W



' 9 Expand and Simplify (x—2)(3x + 2)(x +5)

(X-2)(32" + 15+ 22 +10)
(2 -2)( 32"+ 17« +/0)
3z’ 172" +10z - 63°- 3¢ - 20

Sy +H1/x® - 2y =20

________{Total for question 9 is 3 marks)

10 Bxpand and Simplity (3x-+ )(x+ 2)e—4)
(3x+1) (2" ~4x+22 —3)
(3x+/)[ 2% - 2x - 3)

30 —6x"- 207y 3* - 25 — &

g)CB‘ Exlw 261 i

S5 -Lx -Jéx—3

. (Total for question 10 is 3 marks)



11 Showthat (2x+3)(5x+2)x—5)=10x — 31> — 89x — 30

for all values of x.

(21+3)(512—Z$E+21 ~/o)
(21+3)[51?~231‘40)

/02" - 4% -J0x + 15c5- 6T« — 3o

/Ozg- 3/3(2-8(71 v 2

______ (Total for question 11 is 3 marks)
12 Showthat (2x—1)(3x+2)*=18x*+15x2—4x—4

for all values of x.

(2x-1)(3x+2)(3x+2)
[Zx//)(712+61uf61‘*4)
[QI,4)(7IZ+/21-+¢)

J@x* + 247% + 8 = Tx"—12x -4

/y13+4512“'91~:?

__________(Total for question 12 is 3 marks)



13 Showthat (3x— 1)(dx + 3)(x—9) = 12 — 103x> — 48x + 27

for all values of x.

(32 =/)( 42"~ 362 + 3¢ — 27)
(Sx —f/)(éﬁ:tz = B3, — 27)
) 2x> =772 =8/ ~4x“+33x 45

)24 ° —103x% —48x + 27

... (Total for question 13 is 3 marks}

14 Showthat (5x—4)(3x + 1)(2x—7)=30x* — 119x% + 41x + 28

for e o
(52 -4)(6x™ - 212 + 22 - 7)
(52-4)(6x% - 19z - 7)

B0z~ — 957°- 35x - 292°+ 762 41728
30> — 1192+ 4/x +2§

_______ (Total for question 14 is 3 marks)




